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AR < P 4.6 5| m3
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252.0 252 | m2

BERAARN + R 44.9 44.9 t
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. 100 + 17.955 17.955 2.2 2.20 39.5
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. 101 + 0.000 2.045 2.2 2.20 4.5
101 +  0.000 2.2
. 101 + 1.870 1.870 2.2 2.20 4.1

T I 3 O A 50 3 O v S O S S 13 D i

A B 61.570 122.4 0.0
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B | NO. 98 + 13.300 0.1
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FHHIm| H2m) | Blm | B2m) | Ow?) | @md
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2

Al(mz) =

7 oy 7 MR

Am®) = (ERHER,) / 2 X

KEEE
L= (ZuyZmfE— FHRANE X

= (Ha:Hb) /2
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{01 2 4+ 2 Cc A1 + N2 + 01H+HI+D |}
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7y 7 FE R TR R R (KF) N1= 0.500 N2= 0.400
C= 0.500
KIGIER | FHUEER | E&H H1 t BANLE R | EAERL FhAay | 7Teyfg | HiAay BEIAMS Ky K
(m) (m) (m) (m) (m) (m) (m) (m2) (mm) (m2) (m3) (m3) (m) (m)
1 2.300] 0.600 0. 200 2. 460 2. 157
19.700| 19.700 2.300] 0.600 0. 200 2. 460 2. 157 48. 46 42.49| 19.700 9. 48
9 2.300] 0.600 0. 200 2. 460 2. 157
20.000| 20.000 2.300] 0.600 0. 200 2. 460 2. 157 49. 20 43.14] 20.000 9.63
3 2.300| 0.600 0. 200 2. 460 2. 157
17.955| 17.955 2.300| 0.600 0. 200 2. 460 2. 157 44. 16 38.73| 17.955 8. 64
4 2.300| 0.600 0. 200 2. 460 2. 157
2. 098 2.074 2.300] 0.600 0. 200 2. 460 2. 157 5.13 4.50 2. 098 1. 00
5 2.300| 0.600 0. 200 2. 460 2. 157
1.622 1. 601 2.300] 0.600 0. 200 2. 460 2. 157 3. 96 3. 48 1.622 0.77
6
7
8
9
10
11
12
13
14
KIIER | FEBIER
61.375| 61.330 & % 150.91 132. 34| 61.375 29.52
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3013
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400 _ 200 W
50 362 138 50 55
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= "\ — @D13 x 10500
b : ~ } g ﬁ
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R T =& 2[ ® g E[ 5 g
= A 347 293 % HWER —st72Y (L=10.8m)
15] 240|185 78 5 ay | ® K& |Am| WEmE |FSYDE| HE "L ]
L L300 [300]) | @12-D13 x 1940 324-D13x 1930 () (ke/m (ke/%) ke)
100 ® D13 10500 6 0.995 10.448 62.688 | ——
@ D13 1940 12 0.995 1.930 23.160 —d
@ D13 1930 24 0.995 1.920 46. 080 cd
131.93
D13 131. 93kg
#£1UE 131. 93kg (SD2954)
10.8m3% Y
4 JEAR - STk g B & AT
A A= (0. 40+0. 60) X 10. 8 10.8  m®
a7 J—F o ck=24N/mn2 + W/C=55%LL F V= {(0.60%0.60) —
(0. 40X 0.20) X1/2} X10. 8 3.5 m’
HLary Y — A A= (0. 20+0.20) X 10. 8 4.3 m®
BLarvrzU—h o ck=18N/mm2 * t=20cm A= 0.80X 10. 8 8.6 m’
H Hikt IS VIR (1565) « t=10mm | V= (0. 60X 0. 60) —
(0. 40X 0.20) X 1/2 0.3 m®
& i D6-D13 X 10500 10. 500X 0. 995kg/m=10. 448
6. 04X X 10. 448=62. 688
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